BE | T o @ ZE

(I/3w) 7 8 4 =]
(I/3w)  HEZIL—FAL |Ht
Is (1/3w) ~KIED [
012 (wo/s) e o
99 Hd 3
(I/3w) ¥ &
(1/3W) E
(1/3w) EZT IS ¥
(1/3W) ES T
(I/5W) ESHENBOTES NN
(1/8uW) <173
1000 > (1/8w) R
(1/3w) CNLAvK£
(I/3w) RIS ERE
(1/3w) TEL£
20000 > (/5w) ~ywHO/od445-¢€
500 (I/3w)  ~ALTOOLEdL
6000 (I/3W)  ~1£To040
90000  »| (I/8wW)y  ZgToo4fd-z Lt |t i
S0000 > (/W) ZgTongid-iTLl T =
1100 (I/3W) 71$1004,4-C 1-¥4% _
2000 (AW AAL£Ton4c-1)
v0000 > (/3w)  ~AgTOOLG-C |
¢0000 > (/3w) ¥} Srhd ¥
2000 >l (/3w) ~&¥O04%
(I/3W) g O d fi¢
(I/3w) 2% N #
(l/3W) ¥ n 2
(l/3w) V=174
(1/3w) g
(1/3w) LT
(1/3w) T LAY
BEE
6¢12H HH 3 XX
e — R
101100 e L
INCE 2 X W
| iy 253
BHET S S H¥E !
EGEEH M EN L

el rE 0 &




